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SUBJECT : MIATHEMATICS

TOPIC: NUMBER SYSTEM
3
-5

. Simplify the expressuon

dlf x=(7+ 443), then what is the value of the

P 1
axpression x + = 7
X

L7) If /2 = 1.414, then what is the value of ‘E———!‘-‘?
N2 41

I-ﬁ Express 2. 015in the fraction form.

~1/5 -1/6
5 simplify the expression [E] | ;
4

b - aaa (247 - Lz m’ﬁ] s [g Nl +g . mf}

-

T I WS =g
[ simplify Jm2n2 x Ym?n? x ¥m*n?.

n4+l _ n
gsimplify 16x2 4x2 .
16x2ﬂ+2_2x2n4—2

& 3
xa(b c) Xb

L b o=l

C? Show that ——— pUCE il e ‘

|0 Simplify 3745 - J125 -+ /200 - /50.
4 4
@216 23 (2856) Y

| j Eind the value of

'] 2 Find the values of a and b, if

3442
2w G b2,
3=4f2

J6 2 a3

|G Simelly R Toada oo

[Z{ If a = 6 + 24/3, find the value of a — E
a
— 114 .
}5 Simpiify J25 +(2b6J R il
364 625

Ty
(ﬁ |

b sunpiy3iEs — <125 ¥200 - =0
< rrdtevaneof L
‘ :,_;"zi'-.’::
T/ R —— 4-45 4+
fC N #7.—'—— g 4 —~D
A 1
lq Findme\fajﬂae:?——:ﬁ-ﬁ-
216 Z2o0)
20 . Simplify 3J48 — :: = + 443
L 3
= | 2 l}
7, fx=3+ 8 findthevalueof | x™ + —}
e | P
s W 2™ 7
Prove fhat_r__._—:‘— =
2’2 :3»._21;5- 1D
rational ntimbers

a and b are
25 Zl-x/—

= a + b+/3, find the values of aand b.

; s

1

Q«LJ Ifx =1 + /2, find the vaiue of *, X — B
26 Rationalise ———= ‘\f{ i JSJ_-

,Zé, Ifx=(5+ 2J€), show ihata./; - —1— =423
‘ Jx

i .
‘27 I x= . show that the value of

243
(x* ~ 2x? —7x+5)is‘3 )
% 1 1 1
A% simpity 2t ; :
J5 JE4a6 BT ~T4+8
Nﬁ} Find the value of
+ 1 47 2
{216)‘2’3 (@56)%% | (243)5
%0 J§+I dyzﬂ-ﬁndxsz 2
“B-E V342 v

5 | Ifa=2 b =3 thenfind the values‘: of the following.
(@) (a” + b*)*
(b) (a® + b"y*

32, Evaluate [5(8"/% + 271/3)3 11/
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SUBJECT : MATHEMATICS CLASS — I
TOPIC : POLYNOMIAL

1. What are the zeroes of the polynomial p(x) = Fal=B7
2. 1f X*4101 is divided by X + 1. Then find the remainder.
3. If X+ 2 and X — 1 are the factors of %>+ 10X? + mx + n, then find the values of m &

N oo ovoe

n.

If the volume of a cuboid is 2X* — 16, then find its possible dimensions.
Find the factors of (25)(2— 1) + (145X)°.

Factorise 5 (3X+Y)? + 6 (3X+Y) - 8.

Find the product { a —1/a) (a+ 1/a) (a®+ 1/a’) (a’ + 1/a") by using a suitable
identity.

8. Ifa’+9/a’ =31, then what is the value of a — 3/a.
9. If the polynomials 253+ ax’+ 3x — 5 and x*+x°- 2x + a leave the same remainder

10.
11.
12.
13,

14.

15:
16.

17.
18.

19.
20,

when divided by x- 2, then find the value of a.

If f(x) = x*- 5x + 1 evaluate f(2) — f(-1) + f(1/3)

Find v+ 1/y> and y* + 1/y" if y-1/y = 9.

If x +y+4 =0, then find the value of x> 4y’ =12 xy + 64.

If x>+ ax’+ bx + 6 has (x-2) as a factor and leaves a remainder 3 when divided by
(x-3), then find the value of a & b.

Find the zeroes of polynomial 6x - 7x’- 11x + 12, if x-1 is a factor of the
polynomial.

If x+y+z =1, xy +yz +zx =-1and xyz =-1, then find the value of xCayez’,

If A and B are the remainders when the polynomials x 342x%-5ax — 7 and x>+ax’-
12x+6 are divided by (x+1) and (x-2) respectively. If 2A + B =6, then find the value
of a. , ‘

If x—y = 5and xy = 84 then find the value of x*— va.

Show that 2 and -1/3 are the zeroes of of the polynomial 3x3- 2x*- 7x -2 also find
the third zero of polynomial.

Without actual division prove that - 5+ 8x% — 10x + 12 is divisible by x-5xX +6.
Find whether g(x) = x/3 —1/4 is a factor of polynomial p(x)= 8x° -6x°-4x + 3 or not.
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(a) five line segments

SUBJECT : MATHEMATICS CLASS —IX
TopPi C : Introduction to Euclid’s Geometry
‘. In the adjoining figure, name ) _
“.C Give four collinear points A, B, C and D. List all the
line segments determi i by the LTS
‘E\ \\//H" mined by these HOTS]
Q & . -
/ < % Jinthe figure, we have AC = DC and CB = CE, show
-v——A ‘R—\———- _H_B—b that AB = DE.
O b f
- FN\G C -
S— \
(a) two pairs of intersecting lines and their D B
corresponding points of intersection iy i -
A _ ‘ igure, name t
(b) three concurrent lines and their points of q ‘ d he fO”C:jwmg
intersection . A f \R
(c) three rays = o
(d) two line segments
* In the given figure, we have AB = BC and BX = BY,
show that AX = CY., - e N
B C b \ -
/ L 5
/

X3 < (b) five rays
/ (c) four collinear points

/ : :
L//L g, (d) two pairs of non-intersecting line segment.
A

In the adjoining figure, name

5- in the figure, if £1= 423 £ 2= /4 and £3= 24, io’

write the relation between 71 and £Z.
D G
o o iy
3

(a) twelve points
(b) six line segments

U+ |n the figure, We have 3 a
L=< Z2and £2= £ 3, show pl.————C (c) sixrays
it 2 1= L5 4 (d) five collinear points
(e) thrge paits of intersecting lines and corresponding
points of intersection
() Fhree concurrent lines and their point of
15 intersection.

II* ¢ sis a pointlies in,the interior of ZPQR. Given that.

2 Solve the equation U — 5 =15 and state the axiom .
that you use here /POR =80° and /PQS =35 determine the

= - measure of ZRQS.
g If Q is mid-point of line segment AB and P is uf PQis aline segment 12 cm long and R is a point in
its interior such that PR =8cm. Then, find QR.

mid-paint of AQ, then show thatPQ = L AB. ) 2 S A
4 PQ? - PR* and PR" + QR* +2PR - QR.
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SUBJECT : MATHEMATICS
TOPIC : LINES & ANGLES

q, The side BC of AABCIis producedto D The bisector
of A meets BC in L. Prove that
ZABC + ZACD = 2/ALC.

| LB,

ID- In figure, AC L CE and LA LB
Find the value of LZECD.

[~ Inthe figure, find the value of y.

=
=
=
~

C532.

2‘ ‘In the figure, if AB || CD, then find the value of x.

3 B
132°

148°
I D

\

3 AARC is a right triangle in which ZAis a right angle. ”,
AL is drawn perpendicular to BC. If ZBAL = 35°, In figure, AABC is 1soscelesmwh:ch LB = ZC and
then find ZACB. ZM||BC. If A =507, find ZLMC.
c A
~ 50°\
L L N\ M
L & c
A B
. 12 In figure, £Q> £R. PA P
l‘ In figure, what value of x will make AOB a straight ' -
line? i< the bisector of ZOPR
and PM L OR. Prove
that
ZAPM = - [£Q - £R].
& > i 5

N o I3 1t the bisectors of #B and ~C of a AABC meetat a
point O, then prove that

nfigure, AB || CD, what is the value of y?
1 1
BOC = 90° + - £A.

Dt Inthegive

“‘ In the given figure, AB || CD, find the value of x.

E
A\
/7
if six times its / \_100°
C D

g Find the measure of an angle, i

compiement is 12° less than twice its supplement. v
7 ° AS0°

7 |n a AABC, ZA + £B =65 and ZB + £C = 140°, _ .
A

find the measure of each angle of a triangle.
8- In a MABC, if 2 £A= 3 /B =6 £C, calculate the 15 if two parallel lines are intersected by a transversal,
measures of ZA, ZB and /_’C prove that the bisectors of the two pairs of interior
angles enclose a rectangle.




bl

— |
%
—|
§
%
%
:
=
1
§

D.A.V.INTERNATIONAL SCHOOL

ASSIGNMENT SHEET- &

SUBIJECT : MATHEMATICS
TOPIC: " Tyiangles

|« ABC is a triangle in which

AB = AC. D is any point on
AB. Through D, a line D
parallel to AC intersects BC
at £. If DB = 1.5 cm, then

find the length of DE.ioTS] g = C

In the given figure, AC=AE, AB=AD and

ZBAD = ZEAC. If ZACB =40° then find the
measure of ZAED .

’2.

A 1l E
407
B 5 ¢
- . Inthe given figure, itBC = 2.6 cm, then find
2BD + %E .

—
-

In figure, A8 | BE and Ft | B,

f BC = pEe and
AB =EF, then prove tha AABD

is congruent to

AFEC,
A =
" ~ - l}
: \ .'_//. !
,//>'\\ [
A .
BL ,,,,, H¥é;/__.k_‘ R L“,B_,_ M-LJ,{_—'

5= Ingiven figure, it ACis hisector of £BAD such that

AB =3 cmand AC = 5¢m, then find the length CD |

//r
B
o -""‘
o, O \
A é_j_cm \7’6" U
\
-
\\—.
“
5

{ ADis a median and BL, CM ‘are perpendiculars
drawn from B8 and ¢ respectively on AD ang AD
Produced. Prove that BL=cCcm,

CLASS - IX

I+ E and F are mid-points of the sides 48 amd A0
AABC. CE and BF are produced i and
respectively. Sothat, EX = CE and Iy = 8F. Ax anc
AY are joined. Find in figure, a trianule congruent to
AAEX and demonstrate the congruenc
XAY is a straight line.

Frove that

X ..v,._;‘._ﬁ\_ ,,,,,,,,,,
:\, h*
R \
E P
v
//“/ .\‘\
I‘//
Bietes

8 * Pisany point in the square ABCD, DPQR is another
square. Prove that AP = CR.

AD
hy
b
B C

9 ABCD is a square. M is the mid-point of AB and
PQ L CM meets AD at P and CB produced at Q.
Prove that

(i) PA=BQ (i) CP = AB + PA.

) ™o
tO"A AABC s right angled at 4
Perpendicular to BC. Prove that

LBAL = sAcCB.

AL is  drawn

B8

L s &

" ina AABC, the sides AB, AC are egual and the base

BCis produced to any point D. From D, DE is drawn
perpendicular to BA produced and pF

perpendicular to ‘AC produced. Prove that 8D
bisects ~EDF,

12 ; & W and

Line segment joining the mid-points M and N of
parallel sides AB and pc, respectively of a

trapezium ABCD is perpendicular to both the sides
AR and N D e s A R




&3]

o

D.A.V.INTERNATIONAL SCHOOL

ASSIGNMENT SHEET —~ £

The coordinatesof twopointsare A3 S4B LS e iy EiscsSor & —
abscissa of B

Find the coordinates of four points lying on the coordinate axs 2t 2 dsSaCE OF 3
units from the origin.

Writes the coordinates of vertices of a rectangle whose length & breadth ar= 7 &

4 units respectively, one vertex at the origin the longer side lies on the x x5 anc
one of the vertices lies in the third quadrant.
Draw the quadrilateral with vertices (-4, 4) (-6, 0) (-4, -4) (-2, 0), name the Type of
quadrilateral and find its area.
Find some ordered pairs (x, y) such that x+2y = 5 and plot them. How many such |
ordered pairs can be found and plotted.
Plot the points (a) (-6, -2) (b) (-4, 0) and (c) (-5/2, 1/2) in a rectangular coordinate
system and write the quadrant of each point.
Find the coordinates of the point :-
(a) Which lies on x & y axes both
(b) Whose ordinate is -4 and which lies on y axis.
(c) Whose abscissa is 5 and which lies on x axis.
Plot the following points and check whether they are collinear or not
(a) (2,3) (3,2) (1,-5)
b) (-1,1) (-3,3) (-5,5)
Plot the following points (1,1) (2,-2) and (-1,-2) and check whether they are
ear or not also determine the area. '
o ooints with coordinates (4, 3) & (4, -2) lie on a line parallel to which axis ?.

+ively find the coordinates of vertex A which lies on positive y axis.

Do+ (-2 01 /5 0) & (0, 4) on Cartesian plane, name the figure formed by joining

r

i8]

W
(48]

(
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If the sides of triangle are doubled, then find its new area.
It the area of an equilateral triangle is 8],,J?>dcm . Find its perimeter.

ne perimeter of an isosceles triangle is 32 cm. The ratio of the equal side to its base is

3 : 2. Find the area of the triangle.

the shape of an equilateral triangle of each side 10 cm while actually he was selling the
same in the shape of isosceles triangle with sides 10 cm, 10 cm & 8 c¢m :-

(a) How much area of cloth he was saving in selling each flag.

(b) What values are lacking on the shopkeeper part.

Kiran has a piece of land which |5 in the shape of rnombus she decided to donate her
land equally to an orphanage and an old age home, if the perimeter of land is 400 m and
one of the diagonal is 160 m :-

(a) How much area will each get.

(b) What are the values exhibited by kiran through this donation.

From a point in the interior of an equilateral triangle perpendiculars are drawn or: three
sides, the lengths of the perpendicular are 14 cm, 10 cm & 6 cm. Find the area of the
triangle.

The perimeter of a rhombus is 20 cm and one of its diagonals is 6 cm long, then tind the
length of other diagonal.

Find the area of quadrilateral ABCD in which AB=9 cm, BC = 40 cm, CD = 28 cm,

DA =15 cm & angle ABC = 90°.
The difference between the sides at right angles in a right angle triangle is 14 ¢m, the

area of triangle is 120 em’. Calculate the perimeter of the triangle.

- The sides of a triangular field are 51 m, 37 m & 20 m, find the number of flower beds

that can be prepared if each bed is to occupy 9 m’ of space.

The height of an equilateral triangle is 6 cm, find the area of triangle.

The lengths of the sides of a triangle are in the ratio 3 : 4 : 5 and its perimeter is 144 cm,
ne area of the triangle and the height corresponding to the longest side.

erimeter of a triangle is 50 cm, one side of a triangle is 4 cm longer than the

the third side is 6 cm less than twice the smaller side. Find the area of




